STATISTICS PUZZLE - Chi-squared, Mann-Whitney
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ACROSS
. Since the Chi-squared Test Statistic is the sum of squared values, the test is always
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4. The criteria used for rejecting a null hypothesis in a Chi-squared Test is the
5. The Mann-Whitney Test replaces original data with
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. In'a Chi-Squared GOF Test, observed values are compared to values.
. The Mann-Whitney Test can be used to test the .
0. The Chi-squared Distribution for small df has a shape.

DOWN
For a Mann-Whitney Test with n1 = 11 and n2 = 9, the highest rank is

The Chi-squared Goodness-of-Fit Test compares
The Mann-Whitney Test can be used to test the
The criteria used for rejecting a null hypothesis in a Mann- Whltney Test is found on a
An abbreviation for a non-parametric test of two means is
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